is a Cauchy sequence in H. (This is the crucial observation.) Indeed, for m > n, the norm ||y, — yul|
may be computed by the above remark as
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By completeness of H, it follows that there exists a limit
y = lim y, € H.
n—oo

We claim that y sastisfies all conditions of the problem. For m > n > p, with n, p fixed, we compute
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showing that ||z, — y|| = d/v/2, as well as

& 1 1 1 1\ "
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showing that (x, —y,z, —y) = 0, so that

{\f(xn —y): n€ N}

is indeed an orthonormal system of vectors.

This completes the proof in the case when 7' = S, which we can always take if S is countable. If
it is not, let 2, 2” be any two distinct points in S\ T. Then applying the above procedure to the set
T = {‘T/, IN7 L1, X2y« Tpy -« }

it follows that
R o 2 T SR a7 T 2 U S S oo
lim =lim —— =y
n—o00 n—+ 2 n—oo n

{g(m/ - ’!/%?(fl;” - !/)} U {?(’n —y):ne N}

is still an orthonormal system.
This it true for any distinct 2/, 2" € S\ T it follows that the entire system

{g(:p—y): IGS}

is an orthonormal system of vectors in H, as required.

satisfies that

IMC2008, Blagoevgrad, Bulgaria
Day 2, July 28, 2008

Problem 1. Let n,k be positive integers and suppose that the polynomial 22 — 2* 4 1 divides
2 4 2" + 1. Prove that #2* + 2% + 1 divides 22" + 2™ + 1.

Solution. Let f(z) = 2?" + 2" + 1, g(x) = 2% — 2* + 1, h(x) = 2% + 2* + 1. The complex number
xy = cos(gy;) + isin(gr) is a root of g(w).

Let o = Z&. Since g(z) divides f(z), f(21) = g(z1) = 0. So, 0 = z" + 27 + 1 = (cos(2a) +
isin(2a)) + (cosa+isina) +1 =0, and (2cosa+ 1)(cosa +isina) = 0. Hence 2cosa+ 1 =0, i.e.
a= :I:%’r + 27e, where ¢ € Z.

Let x5 be a root of the polynomial h(z). Since h(z) = L=,
are distinct and they are zo = cos 5> + i sin 23%, where s =3a + 1,a € Z. It is enough to prove that
f(z2) = 0. We have f(z3) = 23" + a5 + 1 = (cos(4sa) + sin(4sa)) + (cos(2sa) + sin(2sa)) + 1 =
(2cos(2sar) 4 1)(cos(2sa) + isin(2sar)) = 0 (since 2cos(2sa) + 1 = 2cos(2s(£Z + 27mc)) + 1 =
2cos(%2) + 1 =2cos((3a £ 1)) + 1 =0).

Problem 2. Two different ellipses are given. One focus of the first ellipse coincides with one focus
of the second ellipse. Prove that the ellipses have at most two points in common.

z3k—1

the roots of the polynomial h(x)
2ms

Solution. It is well known that an ellipse might be defined by a focus (a point) and a directrix (a
straight line), as a locus of points such that the distance to the focus divided by the distance to
directrix is equal to a given number e < 1. So, if a point X belongs to both ellipses with the same
focus F and directrices Iy, I, then €, - ;X = FX = ey - 13X (here we denote by [, X, o X distances
between the corresponding line and the point X). The equation e; - [; X = ey - [, X defines two lines,
whose equations are linear combinations with coefficients e, +e5 of the normalized equations of lines
l1, [ but of those two only one is relevant, since X and F' should lie on the same side of each directrix.
So, we have that all possible points lie on one line. The intersection of a line and an ellipse consists
of at most two points.

Problem 3. Let n be a positive integer. Prove that 2! divides

S (ah)*

0<k<n/2
n n
Solution. As is known, the Fibonacci numbers F), can be expressed as F,, = % <<1+2\/5> — (%) )
Expanding this expression, we obtain that F, = zn%l ((711) + (2)5 +..+ (7)5%>, where [ is the

greatest odd number such that [ < n and s = 1—71 <3

So, Fr = gt 2 (y4,) 5%, which implies that 2"~ divides Yooy, (54,)5"-
k=0

Problem 4. Let Z[z] be the ring of polynomials with integer coefficients, and let f(x), g(z) € Z[z] be
nonconstant polynomials such that g(x) divides f(z) in Z[x]. Prove that if the polynomial f(x)—2008
has at least 81 distinct integer roots, then the degree of g(x) is greater than 5.
Solution. Let f(z) = g(z)h(x) where h(z) is a polynomial with integer coefficients.

Let ay, ..., as; be distinct integer roots of the polynomial f(z)—2008. Then f(a;) = g(a;)h(a;) =
2008 for ¢ = 1,...,81, Hence, g(a1), ..., g(as1) are integer divisors of 2008.

Since 2008 = 23-251 (2,251 are primes) then 2008 has exactly 16 distinct integer divisors (including
the negative divisors as well). By the pigeonhole principle, there are at least 6 equal numbers among
g(a1), ..., g(as1) (because 81 > 16 - 5). For example, g(a;) = g(as) = ... = g(ag) = c. So g(z) —cis
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a nonconstant polynomial which has at least 6 distinct roots (namely ay, ..., ag). Then the degree
of the polynomial g(x) — ¢ is at least 6.

Problem 5. Let n be a positive integer, and consider the matrix A = (a;j)1<; j<n, Where

1 if i+ j is a prime number,
Qij = .
0 otherwise.

Prove that | det A| = k? for some integer k.

Solution. Call a square matrix of type (B), if it is of the form

0 bio 0 oo biopea 0

o1 0 by ... 0 ba,2k—1

0 b3a 0 oo b3opa 0
bok—21 0 bok—23 ... 0 bok—2.2k—1

0 bgk,Lg 0 e b2k—172k72 0

Note that every matrix of this form has determinant zero, because it has k columns spanning a vector
space of dimension at most k — 1.
Call a square matrix of type (C), if it is of the form

0 C11 0 c2 ... 0 Cl,k

C11 0 C12 0 e Gk 0
0 Co1 0 Co2 ... 0 Cok

C, = Co1 0 Co9 0 .. Cok 0
0 Ck,1 0 Ck2 .. 0 Ck.k

aga 0 a2 0 ... cagr O

By permutations of rows and columns, we see that

det (C O)’ — | det OP2,

|det O = 0 C

where C' denotes the k x k-matrix with coefficients ¢; ;. Therefore, the determinant of any matrix of
type (C) is a perfect square (up to a sign).

Now let X’ be the matrix obtained from A by replacing the first row by (1 00 ... 0)7 and
let Y be the matrix obtained from A by replacing the entry a;; by 0. By multi-linearity of the
determinant, det(A) = det(X') + det(Y"). Note that X’ can be written as

. (10
(0 %)
for some (n — 1) X (n — 1)-matrix X and some column vector v. Then det(A4) = det(X) + det(Y").
Now consider two cases. If n is odd, then X is of type (C), and Y is of type (B). Therefore,
|det(A)| = | det(X)]| is a perfect square. If n is even, then X is of type (B), and Y is of type (C);

hence | det(A)| = | det(Y)] is a perfect square.
The set of primes can be replaced by any subset of {2} U{3,5,7,9,11,...}.

Problem 6. Let H be an infinite-dimensional real Hilbert space, let d > 0, and suppose that S is a
set of points (not necessarily countable) in H such that the distance between any two distinct points
in S is equal to d. Show that there is a point y € H such that

{?(xy): xES}

is an orthonormal system of vectors in H.

Solution. Tt is clear that, if B is an orthonormal system in a Hilbert space H, then {(d/v2)e: e € B}
is a set of points in H, any two of which are at distance d apart. We need to show that every set S
of equidistant points is a translate of such a set.

We begin by noting that, if 1, z2, x5, 24 € S are four distinct points, then

(Tg — 21,00 —21) = d27
(T2 — 1,23 — 71) = B (Hfl’z - 301||2 + ||z — 1’1||2 =22~ 1‘3||2) = %d27
(xg — @1, 04 — x3) = (T2 — X1, 4 — T1) — (X2 — X1, X3 — X1) = %dQ — %dz =0.
This shows that scalar products among vectors which are finite linear combinations of the form
ATy + ATy + - -+ Ay,

where x1, s, .. ., x, are distinct points in S and Ay, g, ..., A, are integers with Ay + Ao+ -+ A, =0,
are universal across all such sets S in all Hilbert spaces H; in particular, we may conveniently evaluate
them using examples of our choosing, such as the canonical example above in R™. In fact this property
trivially follows also when coefficients \; are rational, and hence by continuity any real numbers with
sum 0.

If S = {x1,29,...,2,} is a finite set, we form

1
I:E(?L'1+ZE2+"'+$”),

pick a non-zero vector z € [Span(xy — z, 29 — @, ..., Ty — Jc)]L and seek y in the form y = z + Az for
a suitable A € R. We find that

(71 —y, w0 —y) = (31 — 2 — Az, 39 — . — A2) = (v1 — x, 29 — @) + A 2.

(x1 — x, 29 — x) may be computed by our remark above as

2/ /1 11 NN /11 1 1\’
<1’1—I,I2—1’>_—<(——1,—,—,.‘.,—> 7(_5__17_7‘“7_)
2 n n'n n n'n n n .
& (21 ) =2y d?
2 \n\n n2 oo

2
will make all vectors %(xl — y) orthogonal to each other; it is easily

d
So the choice A = ——
V2n||z]|
checked as above that they will also be of length one.
Let now S be an infinite set. Pick an infinite sequence T' = {x1, 22, ..., Ty, ...} of distinct points

in S. We claim that the sequence

1
yn:ﬁ(x1+x2+~~+xn)



